
MAT 137 (Calculus II) Prof. Swift 
Quiz 7, Power Series Na111e: _ ---'h.,~,~-------
For this quiz, :vou may work with other people. You may not consult your notes or the 
internet. You 111ay leave tlw class after you turn in your quiz. 

Recall that eYcry pO\:t.·er series centered at O has a radius of convergence R. such that the 
power series con\·erges absolutely if lxl < R and the power series diverges if lrl > R. 

"°'"?.~ tl~ §" s~ R.. ,.s 
Suppose a p ower series centere<l at O converges at x = 3 and diverges at x = -5. 

~~""!>--
1. Does this povYer SC'rics conv0rge at x = 1? ~ No, ~1laybe (circle one.) ~ 65":' 
2. Does this power series converge at :,:= 4? Yes, No, ~ (circle one.) ~ Lly)A\JOl~S~f: If.(~ 

~ r . .S . . ("11<. .. ~ r!' 
3. Does t his pov,:cr series converge at X = 6? Yes,o ~laybc ( circle one.) \. \}Q. 6~ \' '~, 7:, 

2 
4. Find the first 4 t ern1s in t he power series representation of f (:i:) = -- You do not 

1 + 3x 
need to simplify your answer. \\.rite a complete sentence for full credit. (2~f-{4D~ 

f<~=- 2 1 -==2.(r +t-'n-)+ ( - >1-)"L-+-(-J~)"' -r- -- ·) zt _2t.,,-
' -t-'>lC} ~ ~ :.c-( ".t 

) '\. ) IC. Cl \\ =- 2.. ( l -'!> J'. -t-"t )( ~ - ) 7 ~ + · . · ; -=- 2 - 6 x: t \ r ~ '-- s-Y t 1- • •. 
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